ANERDAHYDRAULIC SWAGED HOSE FITTI NG
A .
|:t: T 10311
E.m @)
_‘ t')”_l | O-RING METRIC MALE FLAT SEAL
o7 REF.JB/T988
PART Number = HOSE BORE DIMENSIONS

THREAD E DN DASH A C S1
10311-14-04 M14x 1.5 6 04 23.5 11 17
10311-16-05 M16x 1.5 8 04 23.5 11 17
10311-18-06 M18x 1.5 10 06 23.5 11 19
10311-22-08 M22x 1.5 12 08 26.5 12 22
10311-27-10 M27x 1.5 16 10 31.5 13 27
10311-30-12 M30x 1.5 20 12 33.5 14 32
10311-36-14 M36x 2 22 14 35.5 16 38
10311-39-16 M39x 2 25 16 39 16 41
10311-45-20 M45x 2 32 20 44.5 20 46
10311-52-24 M52x 2 40 24 47.5 22 55
10311-64-32 M64x 2 50 32 52.5 27 65

1. 2. 10312-xXx-XX
Note 1.Forues with braided hoses 2.If use with spiral hoses,hose fitting series number is 10312-xx-Xx.

(g b

o)

20211-T METRICFEMALEFLAT SEAL
REF.GB/T9065.3

gl 20211

H

PART Number = HOSE BORE DIMENSIONS
THREAD E DN DASH C
20211-10-02 M10x 1 4 02 14 6 14
20211-12-03 M12x 1.25 5 03 14 8 17
20211-14-04 M14x 1.5 6 04 15.5 8.5 19
20211-16-05 M16x 1.5 8 05 16.5 8 22
20211-18-06 M18x 1.5 10 06 17.5 8 24
20211-20-06T M20x 1.5 10 06 16 10 24
20211-22-08 M22x 1.5 12 08 18.5 10 27
20211-24-08T M24x 1.5 12 08 16.5 11 30
20211-27-10T M27x 1.5 16 10 19.5 10 32
20211-30-12 M30x 1.5 20 12 21.5 11 36
20211-33-14 M33x 2 22 14 21.5 13 41
20211-36-14T M36x 2 22 14 20 13 41
20211-39-16T M39x 2 25 16 23.5 13 46
20211-42-20 M42x 2 32 20 26 15 50
20211-45-20T M45x 2 32 20 25 15 55
20211-52-24T M52x 2 40 24 25 17 60
20211-60-28T M60x 2 45 28 26 20 70
20211-64-32T M64x 2 50 32 26 23 75
1. 2. 20212-xx-XX
Note 1.Forues with braided hoses 2.I1f use with spiral hoses,hose fitting series number is 20212-xx-Xx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



ANERDAHYDRAULIC SWAGED HOSE FITTING ANERDAHYDRAULIC SWAGED HOSE FITTING

P — 45°
ol =[‘ _T!;LJ—““J 45° METRIC FEMALE FLAT SEAL 10611
A\\f\‘/ 4 20241 \-,,:_ 20241_T REF.GB/T9065.3 60°
PART Number E HOIDE BORE DIMENSIONS METRIC MALE DOUBLE USE FOR 60°
THREADE DN DASH a C H S2 CONE SEAT OR BONDED SEAL
20241-14-04 M14x 1.5 6 04 40.5 8.5 18.5 19
20241-16-05 M16x 1.5 8 05 44.4 8.5 20 22
20241-18-06 M18x 1.5 10 06 45.7 8 21.4 24 E HOSE BORE DIMENSIONS
20241-22-08 M22x 1.5 12 08 58.9 10 24 27 PART Number - /\5E DN DASH A c =
20241-27-10T M27x 1.5 16 10 68.8 10 24.3 32 10611-14-04 M14x 1.5 6 04 23 5 11 19
20241-30-12 M30x 1.5 20 12 78.1 11 30 36 10611-16-05 M16x 1.5 8 05 26.5 12 22
20241-36-14T M36x 2 22 14 77.3 13 27 41 10611-18-06 M18x 1.5 10 06 29 5 12 24
20241-39-16T M39x 2 25 16 83.9 13 29.7 46 10611-22-08 M22x 1.5 12 08 32 14 27
20241-42-20 M42x 2 32 20 97.3 15 36.6 50 10611-26-10 M26x 1.5 16 10 35 16 32
20241-45-20T M45x 2 32 20 94.5 15 33.8 55 10611-27-10 M27x 2 16 10 37 18 32
20241-52-24T M52x 2 40 24 108.5 17 37.7 60 10611-30-12 M30x 2 20 12 38 18 36
20241-60-28T M60x 2 45 28 118.7 20 43.6 70 10611-42-20 M42x 2 32 20 46 20 50
20241-64-32T M64x 2 50 32 127.8 23 45.6 75 10611-45-20 M45x 2 32 20 46 20 55
Notell 1.For ues with braided hoses i:lf use with spiral hoses,hosze(:ﬁ?iigxze):ixes number is 20242-xx-XX. OO s ey 2 20 2t e -0 o
10611-52-24 M52x 2 40 24 46 20 60
$ 1. 2. 10612-xX-XX
90° Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 10612-xx-xx.
= 90° METRIC FEMALE FLAT SEAT
y 20291-T REF.GB/T9065.3 - y
PART Number HOSE BORE DIMENSIONS . | 50°
THREAD E DN DASH A C H || - _J ot - |_||_||J|_||_| METRIC FEMALE 60° CONE
20291-12-02 M12x 1.25 4 02 26.5 8 30.5 17 _!_ll ' ‘n—d_u_l -
20291-14-04 M14x 1.5 6 04 30 8.5 34 19 e 20611 ~., 20611-T
20291-16-05 M16x 1.5 8 05 34 8 38 22
20291-18-06 M18x 1.5 10 06 35.75 8 41.3 24 E HOSE BORE DIMENSIONS
PART Number
20291-22-08 M22x 1.5 12 08 41 10 48 27 THREAD E DN DASH A C S2
20291-24-08T M24x 1.5 12 08 41 11 45.5 30 20611-14-04 M14x 1.5 6 04 18 5.5 19
20291-27-10T M27x 1.5 16 10 56 10 51 32 20611-16-05 M16x 1.5 8 05 19 5.5 22
20291-30-12 M30x 1.5 20 12 66.2 11 63.5 36 20611-18-06 M18x 1.5 10 06 20 5.5 24
20291-33-14 M33x 2 22 14 71.2 13 65 41 20611-22-08 M22x 1.5 12 08 22.5 6 27
20291-36-14T M36x 2 22 14 71.2 13 61 41 20611-26-10 M26x 1.5 16 10 25.5 6 32
20291-39-16T M39x 2 25 16 76.7 13 67.5 46 20611-27-10T M27x 2 16 10 25.5 6 32
20291-42-20 M42x 2 32 20 91.5 15 82.5 50 20611-30-12 M30x 2 20 12 26.5 6 36
20291-45-20T M45x 2 32 20 91.5 15 78.5 55 20611-36-16 M36x 2 25 16 30 6.5 41
20291-52-24T M52x% 2 40 24 109.4 17 92 60 20611-39-16T M39x 2 25 16 30 6.5 46
20291-60-28T M60x 2 45 28 119.9 20 106.5 70 20611-45-20T M45x 2 32 20 31 8.5 55
20291-64-32T M64x 2 50 32 130.95 23 113.3 75 20611-52-24T M52x 2 40 24 32 10 60
1. 2. 20292-xx-XX 1. 2. 20612-xx-XX
Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20292-xx-XXx. Note 1.Forues with braided hoses 2.1f use with spiral hoses,hose fitting series number is 20612-xx-XXx.

(Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com (Tel) 86-574-8847111 (Fax) 86-574-8847116 (URL) Http //www.ardyy.com



